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The area of a right-angled isosceles triangle hav-

ing hypotenuse 1g,/2 cm is

F 162 HH T FHRIU HHIGARE IS h1 &Ehd

2IT—
(1) 144 cm? . 128 cm?

(3) 112 cm? (4) 110 cm?>
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The ratio of sides which make right angle in right

angled triangle is 5 : 12. If the area of triangle is
270 cm? what is the hypotenuse ?

fordl TaeRoT S 1 TR0 99H deft YeU 5 12
IE | €1 Al s 1 &9we 270 T2 7, @t Fof &

Fﬂﬁl’s; :
9 cm (2) 42 cm

(3) 45 cm [4) 5] cm

tﬂ
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The length of three medians of a triangle are 9 cm,
12 cm and 15 cm. The area (in sq. cm) of the
triangle is

T IS 1 9wt w desar 9 96, 12 9l
qal 15 TH B IRIER,3E S #1 &9%d feaa ot

gt 272 /
1) 24 ) 72 (3) 48 (4) 144
{
le,
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The length of each side of a rhombus is equal to
the length of the side of a square whose diagonal

is40./2 cm. If the length of the diagonals of the

rhombus are in the ratio 3 : 4, then its area (in
cm?) is

Ueh FHAGYS hl Yk ST i @dls 39 o bl ST hl
e & SR 8, fSwe fawel 402 I @1 9GEER,
If% 39 Tuegys & fawol =t dasar 3:4 &

Dy b e, a1 3T kel fordad 92 grm?
o )92?( 2) el (sr/rsa{
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A tank 9 m long, 4 m wide and (1/3) m deep is
dug in a field 24 m long and 14 m wide. If earth
dug out is evenly spread out over the remaining
field, the level of the field will rise by:

24 m & 3 14 m =S Tk ©d & 9 m &, 4
m <TST 3T (1/3) m T U ok @ir T4 2
afy s 7 fudt @ 9ue = § o o9 §
Themar WU, 9 B9 &l S fehadl a@ Sut?
XS 1 0= g (Lower-II 01.10.2019 Shift-I")

m

‘Jg | (a) 4.5 cm (b) 5£m
h - = M.@ (¢c) 3.5¢cm 4 cm
—a

0:45
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@_ The diagonal of a quadrilateral shaped field is 24m

and the perpendiculars dropped on 1£ from the
remaining opposite vertices are 8m and 13m. The

area of the field is

934 TR & &7 w1 fawol 24 Hiex 7 R 9 w@
Sl 9 SHMT U ofd 8 Hiet 3Rk 13 e T1 &3 1 &%

(2) 156 m?
(4) 11
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X The perimeter of a rhombus is 40 cm and the mea-
h \ sure of an angle is 60°, then the area of itis :

D C T THEgds 1 TREY_40 T4, § IR Tk 0 H1 A
60° €, d SHH STFAT

(1) 100 /3 cm? \/{ 0 /3 cm?

« (3) 160 J/3 cm? (4) 100 cm?
g, O
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The length of each side of a rhombus is equal to
the length of the side of a square whose diagonal

is40./2 cm. If the length of the diagonals of the

rhombus are in the ratio 3 : 4, then its area (in
cm?) is

Ush THAGHS ol Tdeh Sl i <idls 39 o ki STl hl
e % U 2, Tt foaemuf 4042 g9t 2| dHR,
s 39 gaqes & fawul i desal 3: 4 & U o
g, a1 SHHT &Fhd fhad 9HI2 g2

(1) 1550 (2) 1600 (3) 1535 (4) 1536

0:45
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The perimeter of a rhombus is 40 cm and the mea-
sure of an angle is 60°, then the area of itis :

Tk TUEqS 1 URET 40 Tl € 3R T HI0 HT A
60° ®, dl SUH STFA B :

(1) 100 ,/3 cm? (2) 50 /3 cm?

(3) 160 ,/3 cm? (4) 100 cm?

0:45
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Two circles are concentric whose circumference
are 88 cm and 132 cm respectively, Find the area
of ring ?

< Heh= gai, Tt afifea waer: 88 Il 3R 132

qHl. 2, % o9 % 9o k1 & Sid hITsq|
(1) 780 cm! \/%7(; cmb

(3) 715 cm* (4) 660 cm?* 9
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A path of uniform width surrounds a circular
park. The difference of internal and external cir-
cumference of this circular path is 132 metres.

22
s width is: (Take p = 7]

frdl gURR U % AN IR TH HAM WISE w1 Th
Y oA g3 ¥ | 3H JURR UY hi Mdle AR €l
gfiferml w1 3fay 132 HieX 2 | SHA! dIEE 22—

(1) 22m (2) 20 m

1m (4) 24m
— {,2_?,} ~ |32 "—6-3

BRI /,
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The ratio of the outer and the inner perimeter
of a circular path is 23 : 22. If the path is 5
etres wide, the diameter of the inner circle is :

JAIRR HA 1 ol e 3T=dfeh IRl 1 T4

23 : 22 ¢ | IfE AW & =R 5 HX B, @ A=h
Jq 1 A BN ?

Qr —'r) (1) 110 (2) 55 m
20 m (4) 230 m

RO O ST
bamd) % - i ‘9‘2‘> = 590mt=9) 45
Ca l;(fr 2X| 10 :Homf)
== o HAS
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In the given figure, OED and OBA are the sector
of circle whose centre is O. Find the area of shad-
ed portion.

frfafed 2mehfd ®, OED 3R OBA &% O 91l 99 &

&9 2| BEIhd 9N H &A% FdEU|
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The sum of radii of the two circles is 91 cm. and
\/\'/m the difference between their area is 2002 cm?2. What
is the radius (in cm.) of the larger circle?

"‘Oﬂ;\ I gl I et &1 9 91 WAt ® du STd S
/\“y & HeA 1 R 2002 9P 71 9 g9 1 e (FHL H)

I B2
(1) 56 (2) 42
(3) 63 (4) 49

0:45
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PQR is a right angled triangle in which PQ = QR.
If the hypotenuse of the triangle is 20 cm, then
what is the area (in cm(2) of the triangle PQR?

PQR &1 ¥Hav s 2 59 PQ = QR B1 afg iy
1 & 20 99t 7, 9@ Y9 PQR 1 R &FFA (FHP

) ° w e ?
(1) 100 2 (2) 100
(3) 50 /2 (4) 50

0:45
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The area of the four walls of a room is 660 m? and

its length is twice its breadth. If the height of the
room is 11 m, then area of its floor (in m?) is

Uk A ki 9N SR T &%l 660 o HIET § 3R
ST e, STh! AISE &l T 81 3K FH & S
11 WX &, @ 39k I hl kA (I "X H)

fomamT sm?
(1) 120 (2) 150
(3) 200 (4) 330

0:45
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There is a hall of length 15 m and width 12 m. If
the sum of area of surface and ceiling is equal to

the sum of area of all four wall. Then what is the
volume of that hall ? (in m®)

T Bd 15 Hiel oFe 3R 12 HieX =gl 21 afg 39 i
% FY 9 Dd & GTFA! Hl AN ITH! TN AR B
gTHAl o UK Bl, df 39 BidA 1 AFAT fohad o1 HiX
g ?

(1) 720 (2) 900 (3) 1200 (4) 1800

0:45
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PQRS is a square whose side is 20 cm. By joining
opposite vertices of PQRS are get four triangles.
What is the sum of the perimeters of the four
triangles?

PQRS T o1 ¢ fS&eht s 20 T 81 PQRS & faadid
3ot i fae W 9R BYs W e €1 9) e &
9fHrdl ST A R B 2

(1) 40 /3
(2) 80 /2 + 80

(3) 40 J2 + 40

): 4. 5 s




